
����������6WDQG

=HLFKQXQJVQXPPHU

� �
�

�

�

�

�

���
�

��

��

��

�����

�

��
�

��

��

$
�����

(7�����
6/���'25

GHWDLO�$

K\GUDXOLF�V\VWHP�������W�7.���)



����������6WDQG

=HLFKQXQJVQXPPHU(7�����
6/���'25 K\GUDXOLF�V\VWHP�������W�7.���)

1R� $UWLFOH�1R� 'HVFULSWLRQ
� 723����� F\OLQGULF�VFUHZ�',1������0��[�������Y]�
� 723����� VHDOLQJ����[�����[���
� 723����� JXLGLQJ�VWULS�7XUFLWH���[���[���
� 723����� EDVLF�H[HFXWLRQ�G����G���IRU�ODQHV
� 723����� VXSSRUW�SLVWRQ��������W�7.�������
� 723����� JUHDVH�QLSSOH�5�����',1�������$
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